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SECONDARY SCHOOL EXAMINATION — 2019 (ANNUAL)
SOCAL SCIENCE (Model Set)
(Tt fasm)
¥y : 2 € 45 fire qeTi6—80
Time : 2 Hrs.45 Minutes Full marks-80
gharefal’ & forg (e —

Instructions for the candidates :-

1, wferefl gomewg e vl # & IR T
Candidates are required to give their answers in own words as far
as practicable.

2. Tfedt oiR BRA w A 7T siw guiie Mfde o 2|
Figures in the right hand margin indicate full marks.

3. IR 7 9 Teret guig wes A @1 e W |
While answering the question, candidate should adhere to the

word limit as far as practicable.

4 e U3 B WP Uen & fay 15 e @1 afaRed @ag far T
2 |

15 Minutes of extra time has been allotted for the candidate to read

o

the questions carefully.
6. T UTT U9 |1 @Uel # B, Wre—H Ud G4,

This question paper has two sections Section-A and Section-B.

o



(i)

(ii)

(iif)

(iv)

U3 # 40 TGS ug &, It uen ifErd 2 ) (ol @ forg 1 siw
frefRa 2 1) $791 SR Suarel S ¥ OMR ¥ie # 3 1 ¥ 9a
B B/ §d W ¥ M| N TER P @®ECR/ERA
e} /&S /AEGH AR @ SR GRAET # WANT BRAT FAY R, armgen
wdie gRom sm=g BT |

In section -A there are 40 objective type questions, which are
compulsory, (each carrying 1 marks) Darken the circle with blue
{/black ball pen against the correct option on OMR sheet, provided
to you. Do not use Whitener/Liquid/Blade/ Nail on OMR Sheet,
otherwise the result will be invalid.

Qrs—4 § 9N fae™ & =i §d 5 wdl & 19 g 399 v
g1 (% & forg 2 s FeiflRa 2 )

s | gol 5 U (U¥ 91 1 @ uyE " 5) 2| o @ et 3
ueHl & IR T

RITHIfT fag™ # |a 3 ued (Ue9 6= 8 | uee wr 10) 21 R ¥
f<i 2 geAl & IR |

FfOEH A {A 3 YW (e A 13 W U G@&@ 15) & o 9
fgl 2 Al & S |

el § H 5 U (U FEAT 1 9 e 6w 5) 2| R § el 3
T & SR < |



AUET YEeE ¥ fd 3 Ue (W W 25 ¥ U g 27) 2| o |
fogl 2 wol & TR |

sHo faRad 39 @Wvs ¥ 8 <k ST YA (4eH W& 1 ¥
e " 5) 2| R il M 2| v @ forw 4 s fAeRa £
fer oo fasiE, srfre, @ il A Te Ue &1 FaH bl
arfrard 2|

In section-B, there are 19 short answer type questions from 5 subjects

(i)

(ii)

(iii)

(iv)

(vi)

under social science (each carrying 2 marks), -

History has 5 question (Q No. 1 to Q No. - 5) out of which any 3
guestions are to be answered.

Political science has 3 questions (Q. No. 8 to Q. No. - 10), out of
which any 2 questions are to be answered

Economics has 3 questions (Q. No. 13 to Q. No. - 15), out of
which any 2 questions are to be answered

Geography has 5 questions (Q. No. 18 to Q. No. - 22), out of
which any 3 questions are to be answered.

Disaster management has 3 questions(Q. No. 25 to Q. No.- 27),
out of which any 2 questions are to be answered. Apart from this,
| here 8 Long Answer type questions (Q. No. - 6,7,11,12,16,17,23,
and 24), each Question carries 4 marks.

One question is compulsory to answer from History, Political
Science, Economics and Geography.

A<l TRE © FelggMP—aF B FRAES dafoid 2 |

Use of any electronic device is prohibited.



gvs—3 / SECTION-A

T8 9v / Objective Type Questions.

sfaerd, o ifey fagm, e, srefere, vd ey geee

History, Political Science, Geography, Economics, and Disaster

management
frifeea agfaseda wei § @ W Rpew 3+ | 40x1=40
Select the correct option out of following multiple choice questions.
40x1=40
1, AR &1 Hee g e § o ?
(A) &1 I (B) BTt
(C) fsferes gerian (D) SRIE
Mazzini was associated with which organization ?
(A) Red Army (B) carbonany
(C) Filik Hetariya (D) Diet
2. & H OR &1 31k w7 grar & ?
(A) 9= @1 T (B) url & &1 B w ur
(C) 9 T 9Hd (D) ®9 &1 gue
What is the meaning of Czar in Russia ?
(A) An utensil to drink (B) Earthern pot for storing water

(C) Russian feudal lord (D) Russian emperor



BISTT—gIaT 3rfere fhe yapfay @ o7 ?
(A) HIfTHRY 3ngies (B) anfii® anicrer
(C) wmaTSgardy Twef@ st (D) gfgshdl st

What was the nature of Hoa-Hao movement ?
(A) Revolutionary movement

(B) Religious movement

(C) Imperialism supporting movement

(D) Intellectual movement

HRA & RaelTdd srieled ¥ gam
(A) 1920 # (B) 1922 %
(C) 1924 (D) 1926 #

When did the Khilafat Movement start inllndia?
(A) 1920 (B) 1922
(C) 1924 (D) 1926

1917 30 % 9N # Ugen S[¢ e 5 wex # wenfoq gan ?
(A) DreTeIe (B) feeeht
(C)g=s (D) geAT



In which of these cities was the first jute mill established in 1917.

(A) Kolkata (B) Delhi

(C) Mumbai (D) Patna
Yofiufy a7t & g1 f6a avf &1 wiwor gan ?

(A) =it it (B) weaw o
(C) o5 af (D) SwRiad T

Which class was exploited by the capitalist class.

(A) Labour class (B) Middle class

(C) Peasants class (D) All the above

U 1l # | wrd Art 9 o ok R #7 @aR g o ?
(A) gl At (B) Yer Anf

(C) SR (D) féror ger

In ancient time by which road route trade was conducted between

Asia and Europe?

(A) Cotton route (B) Silk route
(C) North route (D) South route
TRATT A wdvem 59 ywas o sug # ?

(A) TR (B) far (C)gd™ (D) 91384

~2



10.

11.

Which was the first book published by Gutenbarg ?
(A) Koran (B) Geeta
(C) Hadees (D) Bible

AT & 919 § 5 =1 o @ 2
(A) I HHEIEA I (B) H=THT ey
(C) <TaT |18 AR (D) WRewg sRea=

Who is known as the “Father of the Nation”.?

(A) Raja Ram mohan Roy (B) Mahatma Gandhi

(C) Dadabhai Naoroji (D) Bhartendu Harischandra

PI—T TrAfTe o gigoid af & vu ¥ W He amay ?
(A) SEirTafa ot (B) Yfrufer i

 (C) sif ot (D) wear it

Which social class emerged as the intellectual class ?
(A) Entrepreneur class (B) Capitalist class
(C) Labour class (D) Middle class

o9 89 ot favrer & a1 oxa € o gE R sty Blar & -
(A) Ei1 3k g&Y & 9 9ifaw sfaR
(B) wareT g1 Rt ofR gont ol & ¥ aRmAe yfierd



12

13.

(C) a1 3R aferapiaf 1 \eaT BT e

(D) rebdlife eyawen § #ierst &) qaeE @1 AR 7 BdT
When we talk about gender discrimination, we mean -

(A) Biological difference between men & women.

(B) Unequal status of men & women given by society
(C)  Ratio of boys to girls.

(D)  Voting right not given to female in democratic system
frefoRaa § 9 w9 vy B kv =8 82

(A) ferRere wfaer (B) uifdral w1 fawTor

(C) 3hst UM =aver (D) wai=a =ararery

Which of the following is not the characteristic of Federal state?

(A) Written constitution (B) Power distribution

(C) Unitary system of government (D) Supreme court

feer & wyvi Hif @1 Aqa e fFar ?
(A) ARRSR 2Tg (B) ficher AR
(C) gfe=T wTef (D) SIoq®Ter TR0

Who led the Total Revolution Movement in Bihar ?

(A) Morarji Desai (B) Nitish Kumar

(C) Indira Gandhi (D) Jay prakash Narayan



14.

15.

16.

3T ¥ B UF 91 ABAiAd R B FTEY TE 27
(A) SR & AT FAT (B) W= ud feuer g
(C) STRERA WA e (D) SgHESD! BT AR
Which one of the following statements is not consistent with
democratic system
(A) Equality before law (B) Free and fair election
(C) Responsive government system (D) Majority rule
“qRA U dAldditie o 2, frEfafas § & i a8 givon @t 1§
27
(A) I=TIET (B) urs
(C) Tt =& (D) AR Ares

In which of the following it is declared that “India is a democratic

state™?
(A) Preamble (B) Lesson
(C) Law book (D) Civics

e S g B aTg wRenel @ wrierd < wfee § o 8
L

(A) 16 9t TrHEHT (B) 15 df <ramer

(C) 17 & Aww (D) 20 & g



17.

18.

19.

After which Lok sabha election female participation increased to

more than 10%
(A) 16" Lok sabha (B) 15™ Lok sabha
(C) 17" Lok sabha (D) 20" Lok sabha

e A A s s g 8 ?
(A) ST 5 (3) (B) Sio THO B0
(C) @rs &9 wfe et (D) wRd SAar uret

Which of the following is a National party ?
(A) Janta Dal (U) (B) DMK
(C) Lok Jan Shakti Party (D) Bhartiya Janta Party

“eidas BT T fR wer T § 7

(A) TSTife® < (B) wrIfRie Tl

(C) 79d1a & (D) MR® &

Which is the following is called the 'Soul of democracy’?

(A) Poltical Parties (B) Social Parties

(C) Humanitarian Parties (D) Citizens Party

ARG W WY U9 N B 4 aReR! @ ferae fhae gt & gan
87

(A) <= (B) a1

10



20.

21.

(C) T (D) @R
By how many lists power has been distributred between union

and states in India

(A)3 (B) 2

(C)1 (D) 4
frr=feraa ® o9 ieda § g & fovel 28 o ?
(A) e e o

(B) wgTHT MTefY

(C) an<ifues urad <0 RAy 19 S dlel|
(D) SIs &

Who among the following was not against colour discrimination
(A) Martin Luther King

(B) Mahatma gandhi

(C) Olympic runner Johan Tony Smith & John Carlies.

(D) Zade gudi

NIRM TR $T faera gam o1—
(A) 71 g | (B) Wi T #
(C) a<twry g 4 (D) Imgfrd T b

11



22,

23.

Sasaram city was developed in -
(A) Medieval period (B) Ancient period
(C) Present period (D) Modern period

sfemfoa feer & fA=faRag 9 o9 e g Fafea T o

(A) TeT (B) R

(C) SFRITRR (D) ran

In undivided Bihar which of the following was the only planned
city?

(A) Patna (B) Munger

(C) Jamshedpur (D) Gaya

qeT §4Tg AT BT FAT AM 8 ?

(A) STT JTeT SHRTSIT &g ol
(B) el BTE SFET

(C) Ioi wHTS TS gard 3
(D) faeR &a1g arer

What is the name of Patna airport ?

(A) Jai Prakash International Airport

(B) Patna Airport

12



24.

25.

26.

(C) Rajendra Prasad International Airport

(D) Bihar Airport

fagR # o9 AWt HEf © ?

(A) f9gR T_I® (B) TR
(C) (D) ST

Where is Rajju Marg (Rope way) located in Bihar ?

(A) Bihar Sharif (B) Rajgir

(C) Gaya (D) Banka

R & @l o fem o dae 2

(A) e &= 4§ (B) SR fER e 4

(C) sfdyor figR #em 4 (D) <féror faeR &1 wsrfedt A

There is possibility of the discovery of mineral oil in Bihar :

(A) Himaiayan region (B) North Bihar plain
(C) South Bihar plain (D) Hills of south Bihar
PiaR il Rerd & —

(A) T e (B) wrTaR forem #

(C) SR frerm (D) goramxge e #

13



Kanwar lake is situated in -

(A) Darbhanga District (B) Bhagalpur District

(C) Begusarai District (D) Muzaffarpur District

27.

28.

29.

Tora T Sifae Sem | TR | Rerd & 7

(A) TSR (B) S Tra

(C) ER Ww (D) TeAT

In which city Sanjay Gandhi Jaivik Udayan is situated?
(A) Rajgir (B) Bodh gaya
(C) Bihar Sharif (D) Patna
frafaRaa § oW ds@! &1 uF o TE B ?

(A) yd—uf¥em aferamr (B) TRTyE 9

(C) wif agys IRt (D) W Ts®

Which of the following is not the type of roads ?
(A) East-west Corridor (B) Express Way
(C) Golden Quadrilateral Highway (D) Frontier Roads

g 2w o1 I 3 e BT 8§ 98 < hEdnar ¢
(A) srfaefa (B) Rl
(C) sg—fawfa (D) 37 | BIg 8

14



30.

31.

32.

The country with high national income is known as:
(A) Undeveloped (B) Developed
(C) Under developed (D) None of these

TRa @ 59 Tg &Y ofy =afd oma 9affde & ?

(A) fiER (B) yaiTe

(C) sRamm (D) et

Which state of india has the highest per capita income?
(A) Bihar (B) Punjab

(C) Haryana (D) Goa

frfefa # B9 921 31 B TE 2 ?

(A) fafma &1 A (B) %4 &7 HIUD
(C) 10 H= (D) SareH

Which of the following is not a function of Money?

(A) Medium of exchange (B) Measure of value
(C) Store of value (D) Production

YRT BT H4 dF BT 8 ?

(A) Rerd S5 offw gfosan (B) &ta wrfwr ¥

(C) e 4% 3ifw gfvsa (HEEICENERK G

15



33.

34.

35.

Which is the central Bank of India ?
(A) Reserve Bank of India (B) Rural Regional Bank
(C) State Bank of India (D) Punjab National Bank

Sl T I EAd a1 & ?
(A) DrIET (B) dgiferam
(C) faepa (D) g | |

What is the main source of energy ?

(A) Coal (B) Petroleum

(C) Electricity (D) All of these

IR WE B O 30 e BT 59 qgvry Fuh ¥ wder frr ?
(A) BIET BT (B) Ta o

(C) Ref® (D) i

Which multinational company took over the thums up Brand of

Parle group?
(A) Coca-Cola (B) LG

(C) Reebok (D) Nokia
Frafofa 4 f59 a6 @ w99 ot afy & @ -

(A) BE B (B) wgai

(C) wat & (D) STRIT |l i

16



36.

37.

Which of the following suffers major loss due to flood :
(A) Crops (B) Animals

(C) Buildings (D) All of these

AT HAR Rl & 10T 89 &1 89 $RT &

(A) SIS BT & I (B) WAR TRl & T

(C) TRl & SHars ¥ & (D) 3% #Ig &l

Main cause of disturbance of normal communication system is
(A) Broken cables

(B) Distance of communication towers

(C) Low height of towers

(D) None of these

AT A e B Rl & fve wefie Swer @) smavgear £7
(A) ST Ul ST aTfeT

(B) T 9T+ STer T =nfy

(C) 3Tl wgarT

(D) s79 & BIg &

In case of burn by fire which primary action is required?

(A) Pour cold water (B) Pour hot water

17



38.

39.

40.

(C) Sending to hospital (D) None of these
I B $ Seaer gedt W Red o 1 S8l Ol ¢

(A) TP B (B) Ay @7
(C) a3 &= (D) 379 9 ®Ig &l
The place on the earth situated vertical to the centre of the

earthquake, is known as :
(A) Epicentre (B) Max Centre

(C) Small Centre (Anu Kendra) (D) None of these
fegR &1 BlF—w 83 916 | ywifaa 27

(A) gdt faerR (B) aférft faew

(C) ufd=et faErR (D) S¥) fdER
Which area of Bihar is affected by flood ?

(A) Eastern Bihar (B) Southern Bihar
(C) Western Bihar (D) Northern Bihar
ffefas § o9 w99 W enugr 27

(A) aes & (S EISEEI
(C) wemrRY (D) Swwt |

Which of the following is man-made disaster?
(A) Communal riot (B) Terrorism

(C) Epidemic (D) All the above

18



grs—4 (IR—axqfres yw)

sfs — (History)

Section-B (Non-Objective Type Quesitons)

o ST 99 (Short Answer Type Questions)

TR HEIT 1 | 05 T Y TN B B g ¥ 0 @ 5t 03 9v B 9o

T

(T FHF 23=6)

Question no. 1 to 5 are Short answer type questions. Answer any 03

questions.

s

mﬁwﬁmﬁﬁmaﬁmﬁmmwgw?
How did Napoleon Bonaparte helped to spread nationalism in
Europe ?

HIGTATE T HIRIaTe 31Ty Ja7 §Ery &7

What do you understand by Socialism and communism?
gl-—frg wf @y @ 2

What is Ho-chi-Minh Path?

STEAT BHRE T A7 ) a0 SR B AR R I 707

What is Simon Commision? Why was the slogan “go back”
shouted against him?

BER SN HT F5cd 7T 2 ? Hag & fored |

What is the importance of cottage industry? Write in brief?

19



4 99 939 (Long Answer Type Questions)

fA5r—

U AT 6, 7 <" SwNig U 2 | ¥ U BT SR < ? (G Ad 4)
Question no. 6 and 7 is long answer type question? Answer any one (Total
marks = 4) (4x1=4)

6. e Sfigd ¥ 59 R & 9Mifie 95ama g 87
Which type of social change has occurred in urban life?
7. qgo7 Hifd A g f4zg &1 $9 ywifdd fdbar ?

How did printing revolution affect the modern world ?

IeHfa fasm=

POLITICAL SCIENCE

T W1 8 W 10 9% oY Sa9d U & | §98 9 fFE I # SR
(Bl AP 2x2=4)
Question no. 8 to 10 is short answer type. Answer any two questions?
(Total marks — 2x2=4)

8. IHIfoTe dguTg Td fafauar & Sy $9 9= Bl 2

How does social discrimination and diversity spread?
9. AT B AWDR AT B & IJeed a1 o ?

What was the main aim of “Right to Information movement”?

20



10. Aeds FY PR aN @ 9 SoRerdl 2, 37uAT faaR gwhe & |

How is Democracy responsible for the people ? Write your

opinion ?

& gada v (Long Answer Type Questions)

Ader—

ueT T 11 ga 12 4 Ik wee 2 5 te a1 R | 7 (@ A®

Question no. 11 and 12 is long answer type question. Answer any one

(Total marks = 4) (4x1=4)

1. IoFIS Sl &1 s e # wr aeeE g ?
What are the contributions of national parties in development of

countries?

12. IR v & 9 el B ford

Write the main functions of Municipal Corporation.

21



sefare
Economics
TET HRAT 13 @ 15 TP oY IO Y99 € o9 9§ fdt 9 &1 9wR 3
(@ Aiw 2x2=4)
Question no. 13 to 15 is short answer type. Answer any two questions?

(Total marks — 2x2=4)
13, 3 Faven & = yor! o1 waw § guig @Y |

Describe in brief the different types of economy.
4. Ha1 3 e W 9y 87

What is the economic importance of money ?
15, WRA H FEBING A P I gan ?

How did the cooperative movement start in India?

4l ST uv (Long Answer Type Questions)

5 T—
YT W= 16, UG 17 H ITT g 2| 5 @ el v @7 9w @ 7
(29 o 4)

Question no. 16 and 17 is long answer type question. Answer any one

(Total marks 4x1 = 4)

16. W &7 & fAorm # Rem &) w1 yfter 2 ?

What is the role of education in the development of services

sector?

22



17. ¥R & g 3T B ol B |

Describe the different parts of globalisation.

G LK

Geography
UeT HEAT 18 ¥ 22 TF oY I T 27 g A b oW w1 9w 9
(B Ad 3x2=6)
Question no. 18 to 22 is short answer type. Answer any three questions?
(Total marks — 3x2=6)
18,  BOINE T9—9WET & PRUIT P Scord N |
Mention the causes of diminishing forest-wealth.
19.  oifkas d senfas @Gl § e qard |

Distinguish between Metallic Minerals and Non Metallic Minerals

20. ERa ®IfA @ ey T Iwsw &7
What do you mean by green Revolution?

21. I UGN & (AR o1 @ SuRl @1 Seod B |
Mention the measures to control water pollution.

22, feR & fFam e & By SUwTE o ¥ ?

How many types of crops are grown in Bihar?

23



aref S8y y¥ (Long Answer Type Questions)

Ader—

T T 23 T 24 At S e | Rl 0 @ SR & ? (et o 4)

Question no. 23 and 24 is long answer type question. Answer any one

(Total marks = 4) (4x1=4)

23, f9ER A W@ ol w1 avfa @i
Describe the main sources of energy in Bihar?
2. TR 4 7= Nal & wRewr ® AER F g a9

Wirite in detail the conservation of wild animals in Bihar.
IR AR ER G|
Disaster Management
TR WA 25 W 27 Wb Y SN 9T &) T Q@ Rl o 37 9o 2
(BA IH 2x2=4)
Question no. 25 to 27 is short answer type. Answer any two questions.
(Total marks — 2x2=4)

25. P W g6 D FE I Surt @y R

Write any three measures of protection from earthquake.

24



26.

27.

HHY HAR @qw] & 91T 89 @ SR @) wey § o |
Write in brief about the disturbances of normal communication
system?

AT o B RAfG § a1 yagm T Anfe?

In case of fire what kind of management should be done ?




